J. 45

5.45 Determine the magnitude and direction of the anchoring
force needed to hold the horizontal elbow and nozzle combination
shown in Fig. P5.45 in place. Atmospheric pressure is 100 kPa. The
page pressure at section (1) is 100 kPa. At section (2), the water ex-
its to the atmosphere.

Py = 100 kPa
Vy=2ms

HFIGURE P5.485
The controf volume shown 1n the sketch above s used . Applicafion
of the y divechon component of the linear momentum equaton
yields
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A pplication of the X direction linear momentum Gtguaﬁ'oh leads
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From the conservation of mass eguafion
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